ZESTAWIENIE STALI ZBROJENIOWEJ
Poz. Nazwa elementu. D[Lé?r?sé' J. szt. | Materiaf Nr normy Mo[skog ?T?]n CiQZorkgcoIkowity.
1 Pret Zzebrowany DN12mm(#12) 160 100 | BSt500S PN/H-93220 0,888 142 .08
2 | Pret zebrowany DN25mm(825 343 72 | BSt500S PN/H-95220 4,910 2896,70
3 | Pret zebrowany DN20mm(820 290 00 [ BSt500S PN/H-93220 3,140 910,60
4 | Pret zebrowany DN20mm(820 286 100 | BSt500S PN/H-93220 3,140 898,04
5 | Pret zebrowany DN12mm(#12) 89 114 [ BSt500S PN/H-93220 0,888 90,10
6 Pret Zzebrowany DN12mm(#12) 740 36 BSt500S PN/H-93220 0,888 236,56
7 | Pret zebrowany DN16mm(#16) 740 64 [ BSt500S PN/H-93220 2,010 951,93
B | Pret zebrowany DN12mm(#12) 267 - BSt500S PN/H-93220 0,888 237,10
9 [Pret Zebrowany DN12mm(#12) 238 - BSt500S PN/H-93220 0,888 211,34
10 SzynaS49 700 2 All(18G2—b) [ PN/H—93220 49,43 692,02
RAZEM: 7266,47
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